

1870 W. Franklin Rd. Meridian, ID 83642

USA

Ph: 208-362-0851, Fax: 208-362-9726 customer support@nvhelicopters.com

Work Order Quote

Quote #: 18971-RP

Version #: 1 Work Order #: 18971 Serial #: M369

Printed: 7/15/2024 **Page:** 1

To: AIRWORTHINESS EXPERT

Galaxy Aerospace (M) Sdn Bhd, Sultan Abdul Aziz Shah Airport Subang, Selangor 47200 Malaysia Ship To: Galaxy Aerospace

Lot 11-14, MRO Centre, Malaysia International Aerospace Centre, SAA

Airport

Subang - Selangor - 47200

Malaysia

 Ref #: RMN-24-1687
 Code: AE3
 Site:
 Terms: PREPAYMENT

 Description
 Qty
 Unit Price
 Ext. Price

WO 18971 PN 355A32-0210-02 -

Please find listed below the cost for repair of the above noted Cbox. Completion date will be determined after approval of quote. Please return a signed copy via email to customer support@nvhelicopters.com.

of quote. I lease return a signed copy via email to customer_	support@nvn	elicopters.com.	
Labor	4	Φ 5 400 00	ΦE 400 00
List	1	\$5,400.00	\$5,400.00
Labor Total:			\$5,400.00
Parts			
KIT-355A32-0210-XX OVERHAUL SYSTEMATIC KIT	1	\$13,897.00	\$13,897.00
355A75-1220-20 SUPPORT,RH	1	\$309.31	\$309.31
355A75-1220-21 SUPPORT,LH	1	\$309.31	\$309.31
355A35-3038-20 FLANGE,SUPPORT	2	\$1,584.70	\$3,169.40
355A32-2031-00 JET,OIL	1	\$1,007.44	\$1,007.44
355A32-2098-20 HOLDER,SEAL	1	\$1,495.99	\$1,495.99
355A32-2001-24 ADAPTER WHEEL	1	\$27,850.00	\$27,850.00
Note: OH/SV part quoted to aid in cost reduction List \$32,858.80			
SLW40442M50BP LOCK NUT	1	\$385.19	\$385.19
Parts Total:			\$48,423.64
Charges			
Freight Duties/Taxes	1	\$273.08	\$273.08
Bench Stock/Material -	1	\$504.00	\$504.00
Test Bench Run In: -	1	\$995.00	\$995.00
Charges Total:			\$1,772.08

Quote is valid for 30 days. Quotation subject to change upon final testing and subject to price revisions. Parts are subject to prior sale. Outside Repairs are subject to further billing. If Quote is not accepted within 45 days, evaluation fees will be invoiced and may be subject to storage fees.

Unserviceable parts will be disposed after quote approval received unless otherwise specified. If you have any questions regarding the above quotation, please feel free to contact customer_support@nvhelicopters.com.

ABOVE INDICATED PRICING DOES NOT INCLUDE SHIPPING COSTS, EXPORT HANDLING FEES, TAXES, DUTIES, OTHER SERVICE FEES OR INSURANCE COSTS AS MAY BE REQUIRED. Any aforementioned fees will be added to your invoice(s) if incurred by Nampa Valley Helicopters. This quote is confidential and proprietary and shall not be reproduced or disclosed to third parties without the written consent of Nampa Valley Helicopters.

Authorized Signature: WO Total: \$55,595.72

THIS IS NOT AN INVOICE. YOU WILL RECEIVE AN INVOICE WITHIN 48 HOURS OF APPROVAL Pay

Payable in USD



1870 W. Franklin Rd. Meridian, ID 83642

USA

Ph: 208-362-0851, Fax: 208-362-9726 customer support@nvhelicopters.com

Work Order Quote

Quote #: 18970-IN

Version #: 1 Work Order #: 18970 Serial #: M6729

Printed: 7/10/2024 **Page:** 1

To:

AIRWORTHINESS EXPERT Galaxy Aerospace (M) Sdn Bhd, Sultan Abdul Aziz Shah Airport Subang, Selangor 47200 Malaysia Ship To:

Galaxy Aerospace Lot 11-14, MRO Centre, Malasia International Aerospace Centre, SAA Airport Subang - Selangor - 47200

Malaysia

Ref #: RMN-24-1687 Code: AE3 Terms: PREPAYMENT Site: Qty **Unit Price Ext. Price** Description WO 18970 PN 350A32-0110-00 -Symptoms: INSPECTION/RECERTIFY Perform Inspection See TE request Labor 1 \$1,800.00 \$1,800.00 List \$1,800.00 **Labor Total:** Charges \$273.08 \$273.08 Freight Duties/Taxes 1 Bench Stock/Material -\$162.00 \$162.00 Note: Ring gear to be repainted. **Charges Total:** \$435.08

Quote is valid for 30 days. Quotation subject to change upon final testing and subject to price revisions. Parts are subject to prior sale. Outside Repairs are subject to further billing. If Quote is not accepted within 45 days, evaluation fees will be invoiced and may be subject to storage fees.

Unserviceable parts will be disposed of 30 days after quote has been issued unless otherwise specified. If you have any questions regarding the above quotation, please feel free to contact customer_support@nvhelicopters.com.

ABOVE INDICATED PRICING DOES NOT INCLUDE SHIPPING COSTS, EXPORT HANDLING FEES, TAXES, DUTIES, OTHER SERVICE FEES OR INSURANCE COSTS AS MAY BE REQUIRED. Any aforementioned fees will be added to your invoice(s) if incurred by Nampa Valley Helicopters. This quote is confidential and proprietary and shall not be reproduced or disclosed to third parties without the written consent of Nampa Valley Helicopters.

Authorized Signature: WO Total: \$2,235.08

THIS IS NOT AN INVOICE. YOU WILL RECEIVE AN INVOICE WITHIN 48 HOURS OF APPROVAL

Payable in USD



1870 W. Franklin Rd. Meridian, ID 83642

USA

Ph: 208-362-0851, Fax: 208-362-9726 customer support@nvhelicopters.com

Work Order Quote

Quote #: 18972-RP

Version #: 1 Work Order #: 18972 Serial #: M5862

Printed: 7/15/2024 **Page:** 1

To: AIRWORTHINESS EXPERT Galaxy Aerospace (M) Sdn Bhd, Sultan Abdul Aziz Shah Airport Subang, Selangor 47200 Malaysia Ship To: Galaxy Aerospace Lot 11-14, MRO Centre, Malaysia International Aerospace Centre, SAA Airport Subang - Selangor - 47200

Malaysia

Ref #: RMN-24-1687	Code: AE3	Site:	Terms	: PREPAYMENT
Description		Qty	Unit Price	Ext. Price

WO 18972 PN 355A32-0600-06 -

Please find listed below the cost for overhaul of the above noted Bevel Reduction Gear Box. (Includes Oil Pump and Rotor Brake) Completion date will be determined after approval of quote. Please return a signed copy via email to customer_support@nvhelicopters.com.

Labor List Labor Total:	1	\$5,400.00	\$5,400.00 \$5,400.00
Parts			
704A34-543-020 PLUG, ELECTRO MAGNET	1	\$2,861.64	\$2,861.64
355A32-2020-01 FLANGE UPPER	1	\$1,184.43	\$1,184.43
355A32-2079-02 WHEEL	1	\$18,750.00	\$18,750.00
Note: OH/SV part quoted to aid in cost reduction. List \$24,224.18			
Items below are systematic			
ECS2033.62 PLATE,INDIC	3	\$3.48	\$10.44
DHS812-419.00 PLATE,NAME	1	\$6.69	\$6.69
350A00-0120-73 LABEL	1	\$8.39	\$8.39
704A39-810-023 O'RING (VITON)	1	\$65.65	\$65.65
350A32-3152-20 BOLT	30	\$11.80	\$354.00
23112AG080LE WASHER	34	\$0.95	\$32.30
350A32-3094-20 PLATE,STOP	2	\$9.63	\$19.26
350A61-1516-21 PLATE	2	\$11.11	\$22.22
350A32-3112-00 BRAID,BONDING	1	\$24.66	\$24.66
23111AG080LE WASHER, FLAT	22	\$1.01	\$22.22
ASN52320BH080N NUT,HEX.,SELF-LOCKING	38	\$7.83	\$297.54
703A35020339 STOPPER ELASTOMER	1	\$63.56	\$63.56
AS3209-227 O RING	1	\$8.73	\$8.73

Quote is valid for 30 days. Quotation subject to change upon final testing and subject to price revisions. Parts are subject to prior sale. Outside Repairs are subject to further billing. If Quote is not accepted within 45 days, evaluation fees will be invoiced and may be subject to storage fees.

Unserviceable parts will be disposed after quote approval received unless otherwise specified. If you have any questions regarding the above quotation, please feel free to contact customer_support@nvhelicopters.com.

ABOVE INDICATED PRICING DOES NOT INCLUDE SHIPPING COSTS, EXPORT HANDLING FEES, TAXES, DUTIES, OTHER SERVICE FEES OR INSURANCE COSTS AS MAY BE REQUIRED. Any aforementioned fees will be added to your invoice(s) if incurred by Nampa Valley Helicopters. This quote is confidential and proprietary and shall not be reproduced or disclosed to third parties without the written consent of Nampa Valley Helicopters.

THIS IS NOT AN INVOICE. YOU WILL RECEIVE AN INVOICE WITHIN 48 HOURS OF APPROVAL



1870 W. Franklin Rd. Meridian, ID 83642

USA

Ph: 208-362-0851, Fax: 208-362-9726 customer_support@nvhelicopters.com

Work Order Quote

Quote #: 18972-RP

Version #: 1 Work Order #: 18972 Serial #: M5862

Printed: 7/15/2024 **Page:** 2

To: AIRWORTHINESS EXPERT Galaxy Aerospace (M) Sdn Rhd, Sultan Abdul

Sdn Bhd, Sultan Abdul Aziz Shah Airport Subang, Selangor 47200

Malaysia

Ship To:

Galaxy Aerospace

Lot 11-14, MRO Centre, Malaysia International Aerospace Centre, SAA

Airport

Subang - Selangor - 47200

Malaysia

Ref #: RMN-24-1687	Code: AE3	Site:	Terms:	PREPAYMENT
Description		Qty	Unit Price	Ext. Price
AS3209-249 O RING		1	\$13.34	\$13.34
AS3209-262 Packing Seal		1	\$20.03	\$20.03
23350AC180LE WASHER LO	CK	1	\$4.68	\$4.68
AS3209-128 O RING		1	\$8.43	\$8.43
ASN52320BH060N NUT		1	\$4.23	\$4.23
23111AG060LE WASHER, FL	AT	2	\$0.74	\$1.48
DHS613-595-01 WASHER		1	\$1.11	\$1.11
NSA57304-643ADL TAB ATT	ACHING	1	\$6.15	\$6.15
AS3209-116 Packing Preform	ed	1	\$5.88	\$5.88
22220BE060014L BOLT,PAN	HEAD	1	\$15.98	\$15.98
ECS2334BE060M NUT, HEXA	AGON	3	\$2.68	\$8.04
SLW40442M50BP LOCK NUT	-	1	\$385.19	\$385.19
ASNA0205BE13L2 NUT		1	\$217.94	\$217.94
355A32-2158-20 WASHER		1	\$220.44	\$220.44
22201BE080050M SCREW		3	\$15.39	\$46.17
355A32-2086-20 PLATE		1	\$93.68	\$93.68
AS3209-261 SEAL,"O"RING		1	\$9.09	\$9.09
6PACN106 NUT		4	\$15.05	\$60.20
81811-060 SEALING BUSH		4	\$4.21	\$16.84
350A32-3158-20 BOLT		20	\$68.28	\$1,365.60
ASNA0205BE400-2 NUT		20	\$41.21	\$824.20
ASNA0205BE100-3 WASHER		20	\$36.18	\$723.60
Parts Total:				\$27,784.03
Charges				
Freight Duties/Taxes		1	\$285.49	\$285.49
Bench Stock/Material -		1	\$504.00	\$504.00
Test Bench Run In: -		1	\$995.00	\$995.00
Charges Total:				\$1,784.49

Quote is valid for 30 days. Quotation subject to change upon final testing and subject to price revisions. Parts are subject to prior sale. Outside Repairs are subject to further billing. If Quote is not accepted within 45 days, evaluation fees will be invoiced and may be subject to storage fees.

Unserviceable parts will be disposed after quote approval received unless otherwise specified. If you have any questions regarding the above quotation, please feel free to contact customer_support@nvhelicopters.com.

ABOVE INDICATED PRICING DOES NOT INCLUDE SHIPPING COSTS, EXPORT HANDLING FEES, TAXES, DUTIES, OTHER SERVICE FEES OR INSURANCE COSTS AS MAY BE REQUIRED. Any aforementioned fees will be added to your invoice(s) if incurred by Nampa Valley Helicopters. This quote is confidential and proprietary and shall not be reproduced or disclosed to third parties without the written consent of Nampa Valley Helicopters.

Authorized	Signature:
------------	------------

THIS IS NOT AN INVOICE. YOU WILL RECEIVE AN INVOICE WITHIN 48 HOURS OF APPROVAL



1870 W. Franklin Rd. Meridian, ID 83642

USA

Ph: 208-362-0851, Fax: 208-362-9726 customer support@nyhelicopters.com

Work Order Quote

Quote #: 18972-RP

Version #: 1 Work Order #: 18972 Serial #: M5862

Printed: 7/15/2024 **Page:** 3

To: AIRWORTHINESS EXPERT Galaxy Aerospace (M) Sdn Bhd, Sultan Abdul Aziz Shah Airport Subang, Selangor 47200 Malaysia Ship To: Galaxy Aerospace Lot 11-14, MRO Centre, Malaysia International Aerospace Centre, SAA Airport Subang - Selangor - 47200 Malaysia

 Ref #: RMN-24-1687
 Code: AE3
 Site:
 Terms: PREPAYMENT

 Description
 Qty
 Unit Price
 Ext. Price

Quote is valid for 30 days. Quotation subject to change upon final testing and subject to price revisions. Parts are subject to prior sale. Outside Repairs are subject to further billing. If Quote is not accepted within 45 days, evaluation fees will be invoiced and may be subject to storage fees.

Unserviceable parts will be disposed after quote approval received unless otherwise specified. If you have any questions regarding the above quotation, please feel free to contact customer_support@nvhelicopters.com.

ABOVE INDICATED PRICING DOES NOT INCLUDE SHIPPING COSTS, EXPORT HANDLING FEES, TAXES, DUTIES, OTHER SERVICE FEES OR INSURANCE COSTS AS MAY BE REQUIRED. Any aforementioned fees will be added to your invoice(s) if incurred by Nampa Valley Helicopters. This quote is confidential and proprietary and shall not be reproduced or disclosed to third parties without the written consent of Nampa Valley Helicopters.

Authorized Signature: WO Total: \$34,968.52

THIS IS NOT AN INVOICE. YOU WILL RECEIVE AN INVOICE WITHIN 48 HOURS OF APPROVAL

Payable in USD